
Pollination 



Objective :

- Compare between insect pollinated flowers and wind pollinated flowers 
- Compare between self pollination and cross pollination .

Resources : book page 166 – 167

Work book page 72 



Compare between self pollination and cross pollination .



Self pollination Cross pollination

It is the transfer of pollen grains from  anther to 

stigma of the same flower or another flower born 

on the same plant

It is the transfer of pollen grains from the anther of one flower to 

the stigma of another flower  the  born on a different  plant of the 

same species.

It does not require any external agency An external agency ( wind , water , insects ) is always required 

It can occur even when the flower is closed It only occurs when the flower is open 

Does not introduce any variations Introduce variations 



Pistil = Carpel 





Compare between insect pollinated flowers and wind pollinated flowers 
in the table below :

INSECT POLLINATED FLOWER WIND POLLINATED FLOWER 





Text book page 167
Q2.The answer is in the study sheet : 
Pollination ( table )

Q3.

Insect pollinated         wind pollinated  

Q4. Flowers can make self-pollination 
difficult by producing their male and 
female gametes at different times



Workbook page 72 / Q1.



Workbook page 72 / Q4 

Annotate the diagram : label the 
diagram and provide short  
explanations 

Supports the anther 



Workbook page 72/ Q2



Fertilization 



Objective : Understand how fertilization takes place  

Resources : book page 166 – 167 /workbook Page 72



Plant Fertilization:

The process of fusion of the female gamete, the ovum or egg and the 
male gamete produced in the pollen tube by the pollen grain.





Text book page 167
Question 5:

Q5. Pollination occurs when pollens move from the anther to 
the stigma and  land on the stigma. Fertilization occurs (after a 
pollen tube grows down to the ovule) when the nucleus of the 
male gamete fuses with the egg cell nucleus.



Workbook page 72



1. Pollen lands on 
stigma 

2.

3.

4.



Question 7 / page 170

a. The concentration of the sugar 
solution the pollen was placed in.

b. (8/10) X 100% = 80%

c. Repeat the test.
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